1. Which of the following statements is correct? In flowering plants: 

   (a) pollination can take place without fertilisation 

   (b) fertilisation can take place without pollination 

   (c) pollination and fertilisation are the same 

   (d) pollination and fertilisation must occur at the same time

2.  Some species of plant are strongly adapted to pollination by certain insects. Which of the following characteristics would you regard as adaptations to pollination by bees: 

   (a) white or coloured petals                                     (f) small green petals 

   (b) light, smooth pollen grains                                (g) production of nectar 

   (c) spiky or sticky pollen grains                              (h) production of pollen 

   (d) anthers and stigma inside the flower                 (i) production of scent? 

   (e) anthers and stigma protruding from the flower 

3. Mention the various differences between insect and wind pollinated flowers.

4.Diagramatically represent self and cross pollination. 
5. What is the difference between true and false fruits? Mention examples under each

6. What are the steps involved in pre and post fertilization.

7. What are the gametes found in a plant?

8. Label the following structure of a flower
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9. What is meant asexual and sexual reproduction. How are they different from each other?

10. What parts of the flower make up the female part?







